1
2)

3)

4)

5

6)

7

8)

9)

Re5083 e ¢RI ©¢tiHedIRd
B8O D10 o8 Swenc - 2018
10 egdBx - o&Ens | s

88ndt
A ei0es
26 ........... 2) 10)
X2 —3x—2X+6 ... 1)
x=3)X—2) )
ABC +90° = 1500 ... 1ewd 11
ACB =300 ... (1)
ABC =60° ... ©)
(Crsed cReq BJ gH® Eecsin) 12)
Ix 2 X % P O 1
11lcm ... 1 (2) 13)
3 14)
log, 8 = log, 2° ......... (1)
log, 8 =3 ... (2)
2ab=2Xxaxb
........... (1)
322 =3 xaXxa
2.600.9. = 2X 3 Xa’XxXb exns )
6a’b ... 2)
2| 2ab,3a2 )
\— 16)
3|ab, 3a2
2
a[ab,a? S— () )
alb,a
b|b, 1
18)
1, 1 )
QD0 Bsr TS ..creeneee 2)
19)
?
A— —B
4 20)
BOGEO egdt DS TSP ........ )
3+2 3x+2Xx
S (1) PR (1) 21)
5
I (2)
=% 40000 ... 1
100
Ow. 1 200 ..eeeeeeee. 1 2)

&o®es® @O
(2)
end.em3.en.
Go0es® B® wgsNn 1O gSDbwn .

BDC = 140°
(o waw@zﬁ"}emeg 2(31<)5 GBH®

CeesID))

ABC =709 .. 1)




22) C 24) (g) e®»3 (g) ........... 1)

o S
A B 4=mX2+2 ... (1)

D 8899 o=3>® ......... 1) DD = 1 e )
23) 32 +42=23a% ... (1) 25) CE=6cm )
98®ed &» (a) = 5m ... ) AC = 12cm o
CED = 35°
ACB = 35°
AB = 12cm ... )
B @20
o) i) 7_3_4% 1) ®OC D g emDets s888:
R i .
i) €® »Be® e O § o8 =44
1 =72m ... (1)
Y@rened 20 = o X (1)
. i) %x28><X=70 ....... (1)
= = e (1)
7 X=5m ... (1)
iii) 8 D IO
s 1 4 B0® 8md s g8 ... 1
=St T g e (1) iv) ®C D@ emdetd OBdEE
—_7_%_3 =22 1
@68@@08&—7 ~ = 1) —7><14><14><2 ....... 1)
iv) ] em . ) =308m? .. (1)
7 88 emidetd OB0dE®
8O o gosesc = 1400 — (308 + 70)
1
=-=2m ... (1) =1022m? ... 1) 3)
=2%x7=14m ... 1) 03) i) 15%x9 ... 1
V) @dga@ aamom© = 135 ....... (2)
= 14X 200 ..... (1) ) 15X 3 o 1
=45 ... 2)
= G7. 2,800 ... 1)
i) @88 ®8ed 8» = 135 — 45
02) i) 50m X 28m =90 .. 1
90
1400 m? .......... (1) OBOD WS =
i) ebd Dadwed O §o =25 9 .. 1
:ZX%X14X% ......... 1) Slﬁgdwmggmmeﬁm:(9+3)—9
=44m ... (1) =& 3. 10)



iv)

04) i)

iii)

iv)

V)

5Of) cRresnes BNeened
®B8xs = 12 x 3,500

= Gy 42,000 ....... 1)
B0 cRros BRewsned B

=3 x 3,500

= J¢.10,500 ....... 1)
8O 3O pBed cOMme

= Ot 42,000 - 10,500

= 6. 31,500 ... 1 ()
€={1,2,345,6,7,8,9} ... 1
A={2,3,57} ... 1

B=1{1,35709} .l
BOE D0HS} e2nOB 2O cRe I

&
QD
4, 6,8

{4,6,8} ceg S8O ... 1 3)

n(A) =4 .. (1)
n(A') =5 .. (1)
ne) =9 ... (1)

05)

i) 385 emich ©F en ¢
=360 — (90 + 60 + 70) ....... 1
= 140 ... 1 ()

iv) 888 emics o3 869253 302300

= 2051801
360

=70 .. 1 (2)
V) @f godes emich o 86358 6302100

=0 « 180
360
=30 ... 1 @)

©@00 emich o 8553 302800

== x 180
360
=35
¢B3 @63 emidh o £8e353 L3020

=35-5

@8 godes Wy @010 emich ©=3
88e ©@1 @D ... 1 (3)



10 ogBw - oBns |l one

8&x0t
) i. &t 1000 1 | O |iii. oo ewg€s
ii. St 1600 - 1800 1 | O = 30800 — 20000
D82 @08 = 10800
®s g®s (X) fx 3
1100 9900 oo s 8@; Jt. 3 600
1300 15600 ¢3@600
1500 21000 = 20000 < 100%
1700 34000 =182 @
1900 28500 .
iv. 30 800-(20 000 + 2 400 x 3)
2100 21000 S 3 600 ‘ )
S 2 fx = go 000 4) i e»80ma
D10¢ ®Ws gown BSwd 1 c& Gres 00 (B®
5108 fx Bdwd 1 &8®O) ©)
-e 0
¥ fX 0800 1 I, 30" g&®
Y fx Q ey 8%®
®B®BB = —/— 0
Xf 60 cre S%®
_ 130000 1 Q 2tm BncR ces eesd®
50 122000 B@mens @8® @
= Jd 625 1 | ® 10
5 a i 15+2x—x? @
.- 2
iv. o7 1625 X 80 X 22 2 i x*+6x+9 @
St. 2,860,000 1 163 b. i (x—=3)(x—2)
2) i. y=5 0) x> —5x+6 3
. . 3cm 2cm
ii. BOo8 s8@rencs 1 I
BOIR = cey 88® |1 3cm
@ 88® 1 |0 2cm
ii.h m=3,c=2 1+ @ Bn® 820 ¢§ ¢ o el
. €300 L 10
iv. B8 e eb@idd 2 | @
6) a i. (10-n)(10+n) @
V. aun®en @i e
i. (5x-2)(x-1) ®
eba e ®issmds 2 1@
10 b. (87-7)(87+3)
i 12 80 X 90
3) 1. 20 000 X T00 1 00 o
St 2 400 1| @ c. 2x=10
ii. 20 000 + 2 400 + 1 200 1 X=3
St 23 600 e y=3 9




B e20es

NV

4, 7,10, 13, . ..

7 (a).i.

ii. 3n+ 1 (c01® e B®)
@G BEWO
iii. 3x50+1
151
lv. 3n+1=301
n =100
(by n*+1

AB &®
COD wededcmn SU@renn
ii. Ccaea S8
CD =3cm o»edd
D e 86®
iii. AD @ 88®
AD o ewd®
V. o8mode @3
V. omden 0@dedcmed
E &® F 801080 cnea S6®
CDEF es®0rotgeo

9) i. S 8oos 88e.
AB = AB (ewog ocw)
BAD = ABC = 90° (esnf eien)
AD = BC (engfemienggedd
208 ©g)
ABCA =ABDA (e0.0294.230)
=~ AC = BD (g.0e® A 8¢

BT Go®)
ii. 89080 XY eband &&e.
OX =0Y 29 eus3de.
BCXO 588we® dbvdcas

=~ (BC + OX)CX
BCOY 588we® dbodcas
== (BC+0Y)BY

CX =BY (BCXY &xngf emiencss)

~.BCXO n88we® 2.8. = BCOY
2B8E0ce® 2.9.

®

S

10

10)

11)

12)

I. Orescs 8oy S8®O
AN AN
CAE = ACB (1530 emien)
AN AN
ACB = ABC (AB = AC/es®@aeoc,
392 53e30)
AN AN
..CAE = ABC
ii. BAC = x
A A
ABC + ACB =180° —x
(A » aos53550 emieade
oo 180°)
A
ABC = ACB (AB=AC)
A o
~.ABC =2~
iii. DAB = ABC (8mos$00 emien)
DAR = 180°=x

180°—x
——= 70°

X =40° o 0O
OO W @¢BIB.

iv.

i x2 =152 _12?
Xx=9cm

i, §x9 x 12 X 50

2 700 cm®
iii. 10x9 x h=2700
2700
90
h=30cm
V. esmedd 8@
=2700+ 675
= 3375 cm®
xXx Xx =3375
x> =3375
X =15cm

i. ¢={M,ATH,EIC,S}
i, %
iii. X={CAT}

n(x) =3

. 3
Iv. —
8

v. X'={MHEI1S}

10

10

® ®

® ® ©

10







